Algebra 2








Name



_____

Review: System of Equations and Inequalities


Date


Block


Graph and check to solve the system.  State the solution if one exists.
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Use ANY METHOD to solve the linear system.  Show all work for full credit!
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4.


5. Jack and Jill are catering an event for their mother’s birthday.  There are 250 people going to this party, and each will be served a chicken dish or a beef dish.  The chicken dish costs $5 per plate, and the beef dish costs $7 per person.  The budget for the party is $1450.

6.  Ms. Sweeney bought 38 tickets to a show and spent $340. She bought a combination of child tickets for $8 each and adult tickets for $10 each. Write system of equations which will determine the number of adult tickets, a, and the number of child tickets, c, she bought. Solve the system.

Use ANY METHOD to solve the linear system of three variables.  Show all work for full credit!
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     8.

____

List the inequalities and objective function needed to answer the problem.  Graph the inequalities, shade in the feasible region and list the found vertices.  Answer the problem. LABEL YOUR GRAPHS!
9.  Trees in urban areas help keep air fresh by absorbing carbon dioxide.  A city has $2100 to spend on planting spruce and maple trees.  The land available for planting is 45,000 square feet.  Spruce trees cost $30 to plant and require 600 square feet of space.  Maple trees cost $40 to plant and require 900 square feet of space.  Spruce trees absorb 650 lb/yr of carbon dioxide and maple trees absorb 300 lb/yr of carbon dioxide.  How many of each tree should the city plant to maximize carbon dioxide absorption?

Constraints:




Objective Function:



Work for Maximizing Objective Function:

10.  Jermaine makes two types of wood clocks to sell at local stores.  It takes him 2 hours to assemble a pine clock, which requires 1 oz of varnish.  It takes 2 hours to assemble an oak clock, which takes 4 oz. of varnish.  Jermaine has 16 oz. of varnish in stock, and can work 20 hours.  If he makes $3 profit on each pine clock and $4 on each oak clock, how many of each type should he make to maximize his profits?

Constraints:




Objective Function:



Work for Maximizing Objective Function:
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